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SEAEL(Y) ; for questions11-14

The X's company, an all-equtiy company, has a“policy-of paying out all its earnings as dividends. The
company's earnings per share remain constant at $10'per share. X's stock sells al price/earnings ratio of 13.
The company has not issued any shares recently.

11. What is the firm's cost of capital (or equity required rate of return)?
(a) 7.7%; (b) 8.25%; (c) 10%; (d) 13%,; (e) 14%.

12. For the most recent year, if the firm reports EPS of $13 and the P/E ratio drops below 13, which of the
following is most likely true? (Assuming the equity’s required rate of return is the same)

(a) The increase of $3 is permanent and further growth in the future is not expected;

(b) The increase of $3 is transitory;

(¢) The increase of $3 is not only perimanent but growth in the future earnings are expected,

(d) No way to conjecture; (€) none of above is correct answet.

13. For the most recent year, if the firm reports EPS of $14 and the P/E ratio becomes greater than 13,
which of the following is most likely true? (Assuming the equity’s required rate of return is the same)

(a) The increase of $4 is permanent and further growth in the future is nol expected;

(b) The increase of $4 is transitory;

(¢) The increase of $4 is not only permanent but growth in the future earnings are expected;

(d) No way to conjecture; (€) none of above is correct answer.

14. For the most recent year, if the firm reports EPS of 12 and the P/L ratio is still 13, which of the
following is most likely true? (Assuming the equity’s required rate of return is the same)

(a) The increase of $2 is not only permanent but growth in the future earnings are expected;

(b) The increase of $2 is permanent and further growth in the future is not expected;

(¢) The increase of $2 is transitory; (d) No way to conjecture; (€) none of above is correct answer.
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15. If the valuation model of one of a firm's projects is as follows:

G e dd
NPV = [ +(] -—T)Z(H‘)_)t + /Z(]Jr'")‘

where I is the initial investment, T the marginal tax rate, r the project's discount rate, C; the pretax
cashflows, and the d; the depreciation rate. Which of the following statements could be wrong?

(a) If inflation happens, the NPV of the project would be smaller;

(b) If we change the d; from a constant rate to an accelerated rate, the NPV would increase;
(¢) If the weighted average cost of capitai of the firm increases, the NPV would increase;
(d) If we prove that we have over-estimated the risk of the project, the NPV would increase;
(e) none.
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REML(7):for questions 21-25

The following figures are Cumulative Abnormal Return (CAR)-Time plots of X company's stock.
The 0 in the horizontal line represents the point of the:.announcement of an accounting change,
earnings reports or some major events of the company.
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21. If the company takes a project that has positive NPV, figure (1) indicates the stock market is a
strong-form efficient market.

22. If the X company is in a growing industry, and if it announces a high cash dividend policy, and if
the stock market reacts like figure (IV), it indicates the stock market is at least semi-strong-form
efficient.

23. For market participants, figure (Ill) indicates that the announcement carries no information.

24. In a deflationary period, If a firm's inventory method changes from FIFO to LIFO and if the
market reacts like figure (111}, the stock market is efficient.

25. The X Company merges Y Company basing on a strategy of diversification. If Y company's

Tobin's Q is greater than 1, and if the market reacts like figure (11}, doing fundamental analysis
is not likely to make abnormal returns.
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